
www.troax.com

Machine
guarding

Follow me

Kit  36906430

A
rt no

: 88754749 ver. 03       P
rint no

: 202108-5647-E
N

Linear sliding
door 80x80

MG



Ø10 17 mm 5 mm13mm

www.troax.com

A
rt

 n
o

: 8
87

54
74

9 
ve

r. 
03

 

2/7

Linear sliding door 80x80
Kit 6430 Linear Sliding Door 36906430

Kit 36906430

Bag for kit 6430  36906430

Kit Guide Linear 80x80 post 36906450

x25
4,8x16

x2

x2

x4

x1 x1 x1

x1x4 x1

x4
M8x12

x2
M8x20

x10
M8x35

x10
M8x45

x34
M8

x10
12x110

x8
M8x75

x3

x1x10
M8x55

x4
M8x28

x1
80x80

x2
80x80

x2
20/30

Kit Bracket Strong Fix 36700098

x8
M6x100

x8
M6

10mm

4

x1



www.troax.com 3/7Kit 36906430

1 2

13

13

4

3

A
rt no

: 88754749 ver. 03 

Kit Bracket Strong Fix Kit Bracket Strong Fix

Kit Bracket Strong Fix

Kit Bracket Strong Fix

13

13



www.troax.com

A
rt

 n
o

: 8
87

54
74

9 
ve

r. 
03

 4/7 Kit 36906430

Kit 6430 Linear 
Sliding Door +  
Kit Guide Linear 
80x80 post

11

x2

Kit 6430 Linear Sliding Door + Bag for kit 
6430 + Kit Bracket SMF

6

98 10

5

Safe
Lock ES

x2

13
5 mm

7a

7b

M8x12 M8x35M8 M8x20



www.troax.com

A
rt no

: 88754749 ver. 03 

5/7Kit 36906430

A

B

140 14
1,5

12
Ø10 17

12x110

Bag for kit 6430

13
Kit Guide Linear 80x80 post

M6x100

M6

10mm

A

730

1015

1015

1015

1255

B

1800

2500

3000

3500

4250

Safe Lock ES

1980

2680

3180

3680

4430

A

B

140 14
1,5



www.troax.com

A
rt

 n
o

: 8
87

54
74

9 
ve

r. 
03

 

 6/7 Kit 36906430

15

M8x55

Bag for kit 6430

M8

Bag for kit 6430

3000 mm	 1500	 1500

4000 mm	 1500	 1500	 1000

4500 mm	 1500	 1500	 1500

5000 mm	 1000	 1500	 1500	 1000

6000 mm	 1500	 1500	 1500	 1500

A

A  +  B  +  C  +  D = + + +

B C D
1800 

2500 

3000 

3500 

4250

13

14

M8x45
M8x75

M8

13



www.troax.com

A
rt no

: 88754749 ver. 03 

7/7Kit 36906430

16

1817
Kit 6430 Linear Sliding Door13

17 Kit 6430 Linear Sliding Door

Kit 6430 Linear Sliding Door

19

?

?

?

?


